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(1) arcsm?1 (2) sin(arctan%) (3) %(arcsinx+x\/1—x2)

1-2. XD I %z g T,
(1) arctan(2x—3)=% (2) arcsin(2x)=arccosvx+1/2
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2-1. f="Dx=1%2H0LET L7147 —EHZRKRD K.

2-2. f()=e" 122V T, x=1%2F0LETETA4 57 —DAREZET,
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L=1 2) L=1 l
nl—rgozn +3ni+2i’ @ L ng)r:ozsmnsm n

3-2. XROBABDERIE f'(x) KD X,

(1) f(x)=f;sintdt (2) f(x)=fxzxsintdt (3) f(x)=f(;/;e_t2dt
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U (x+D(x+2)(x% +1)
(1) f(x)= 10 _4 b ad ey ok 5z abied BED K

+D(x+2)(x2+1) x+1 x+2 241
(2) F0)= [7 f@dr %k X

4-2. ROANEMETZRKD X,
(1) F(x)= ftan’ xdx (EBZEHi=tanx) (2) F(x)= [(logx)*dx (5

5. T it
(1) a3 (0= 2) E AR @ L2ese (x(0)=0) EHY,
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1) I= 2) I=]_( d
1) fO (x+D(x+2)(x% +1) @ fo(ogx) )
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HOIMFICER T 2 0 RA 7Y 7 DEER, Fu=24 (m), BHERE =4 (m)DIEHEIAHEIZHD

EE 9. ZOWHEIT 500 AR T 5 & E, KR 32 (MM EDDDDOFEIAL ny, 23K X,
N u 1 _y2 S
ST XD, = dt, =] YZAEIZ LR @Y
EBIATRIC K UL, pa)= [ o@)dr, g(x) o A 2B X LUT D3 b

p(0.5)=0.1915, p(1)=0.3413, p(1.5)=0.4772, p(2)=0.4772, p(2.5)=0.4938, p(3)=0.49865
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1. BE=ABE

1-1. (1) arcsin?=—% (2) sin(arctan%)=sin(%)=—%

2
(3) i(arcsinx+x\/1—x2)= ! -2+ - =241-x2

dx 1-x? 1-x
1-2. (1) 2x=3=tanZ=1.x=2. (2) y=arcsin(2x)=arccosvx+1/2 L& &, FHEDEMELD Osys%"-
M. %7, 2x=siny, Jx+1/2=cosy £ D 4x*>+x+1/2=sin’ y+cos’y=1, x=—%,%, D&D x=i,
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(2) L=1im nsm z T f sinaxdx =1x
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3-2. ROBIBDEBIEL f'(x) 23R &,
(1) f'(x)=sinx (2) f'(x)=2sin2x-sinx 3) flx)= e’ (Wx) = Le_x
24x

4., BooitH
5
41.(1) a=5,b=-2,c=-3,d=1. (2) F(x)=log— D |

+arctanx +log4 .
(x+22(2 +1)>?|

4-2. RDOANERITZRD X,

(1) F(x)=-x+tanx (2) F(x)=x(10gx)2—2xlogx+2x

5. B itE
1) x= 2 (2) x(t)=-€ +e* =€' (' -1).
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(1) 1= ig)r:oF(x)——+log4 (4-1(2)) (2) 1= [ (ogxydr=2 (4-2(2)
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_32mu _32-24 oy, N3y =500x P(X = 32) = 500 x (p() - p(2)) = 500x (0.5-0.4772) =114 |,
o
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